



Naam: _____

Datum: _____ Score: _____

$$\left(-\frac{1}{6}\right) - \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right) + \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{5} =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right) + \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{1}{5}\right)^0 - \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{2}\right) =$$



Naam: _____

Datum: _____ Score: _____

$$\left(-\frac{1}{6}\right) - \frac{1}{4} = \left(-\frac{5}{12}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) = \frac{1}{16}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{48}\right)$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{6} = \frac{49}{192}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{5}\right) = \frac{74}{125}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{4}\right) = \frac{5}{18}$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{6} = \left(-\frac{1}{24}\right)$$

$$\left(-\frac{2}{5}\right) + \frac{1}{3} = \left(-\frac{1}{15}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{5} = \left(-\frac{2}{125}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(-\frac{1}{5}\right)^3 - \frac{3}{4} = \left(-\frac{379}{500}\right)$$

$$\left(\frac{1}{4}\right) + \frac{1}{4} = \frac{1}{2}$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{197}{320}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{23}{36}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} = \frac{11}{40}$$

$$\left(\frac{1}{5}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{4}\right) = \frac{407}{500}$$

$$\left(-\frac{3}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$